Minimax Optimal FIR Design Examples
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del_p = 0.05;

del s=0.01;

g M= 14

M = ceil((-10*log10(del_p*del_s) - 13)/(2.324*(om_s-om_p))) 7
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b = firom(M, F, A, W);
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Impulse Response M =14

Frequency Response Magnitude M = 14
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order = 46;

fregbands =[0 0.2*pi 0.3*pi 0.5*pi 0.65*pi pil/pi;
bandgains=[0 0 1 1 0 0];

bandwghts1=[1 1 1];

Bf1 = firpom(order,freqbands,bandgains,bandwghts1);

bandwghts2 =[ 100 1 100];
Bf2 = firpom(order,freqbands,bandgains,bandwghts2);

Equal Weighting of Bands

0 0.2 0.4 0.6 0.8 1
Normalized Frequency w/n

Stop =100, Pass =1

b 02 04 06 mmﬂw\[

Normalized Frequency w/n



LowS =100, P =1, High =10
bandwghts3=[10 1 100]; . biiilalivalk e lnl b i il

Bf3 = firpom(order,freqbands,bandgains,bandwghts3); 12_
bandwghts4 =[100 1 10]; ~20r
Bf4 = firom(order,fregbands,bandgains,bandwghts4); g -30°
£ 40
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fregbands =[0 0.2*pi 0.3*pi 0.5*pi 0.6*pi pil/pi; -60-
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